
Maths-Rules
A mathematics summary ruler

Reinforce key concepts every day!

Multiplication table Fractions and Decimals Percentages Squares and Square roots Positives & Negatives Indices Unit conversions

Order of operations: BOMDAS

To convert to a %,
multiply by 100

mixture = minus
pair = positive

Or move decimal point
2 places to the right

e.g.

e.g.
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 1 =   1  2 ≈   1.414
 3 ≈   1.732
 5 ≈   2.236
 6 ≈   2.449
 7 ≈   2.646
 8 ≈   2.828
 10 ≈   3.162

 4 =   2
 9 =   3
 16 =   4
 25 =   5
 36 =   6
 49 =   7
 64 =   8
 81 =   9

 100 = 10

a 3  = a    a    a 

( a 3 ) 2 = a 6 
( ab ) 3 = a 3b 3 

a 0  = 1 

2  2  =      4
1  2  =      1

3  2  =      9
4  2  =    16
5  2  =    25
6  2  =    36
7  2  =    49
8  2  =    64
9  2  =    81

10  2  =  100
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Brackets, Of, Mult or Div, Add or Subtract
+

+

of(   ) or or

π = 3.141592653589793238462... π ~~ 22
7e = 2.71828182845904523536...

golden ratio  φ = 1.618033988749894...
< less than < less than or equal to

> greater than or equal to> greater than

Equations
Inverse operations

2

Angles Triangles Pythagoras Trigonometry Perimeter and Area Total Surface Area & Volume Linear graphs

Quadratic formula

Statistics

acute

straight

equilateral

isosceles
Pythagorean triads

Square
Trapezium Rectangular prism

Cylinder

Sphere

Triangle

Circle

P = 4L
P = a + b + c + d

P = a + b + c

C = πD = 2πr

A = L2

SOH  CAH  TOA

scalene

right
angled

obtuse

re�ex

right

perigon

(360˚ revolution)

a

c 2 = a 2 + b 2
b

c

Adjacent

O
pposite

Hypotenuse

3, 4, 5 5, 12, 13

7, 24, 25 8, 15, 17

θ

sin θ = 
Hypotenuse
Opposite

cos θ = 
Hypotenuse
Adjacent

tan θ = 
Adjacent
Opposite

L

L

Rectangle

Parallelogram

P = 2(L + W )

A = πr 2

TSA = 2(LW + LH + WH)
V = LWH

TSA = 2πr(r + H)
V = πr 2H

TSA = 4πr 2

A = L W
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P = 2(a + b)
A = bh
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a + b 
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h( )A =

bh 2
1A =

rD
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equation:  y = mx + c

y-intercept:  c

gradient:  m =
y2 − y1
x2 − x1

=
rise
run
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mean = average = sum values
no. of values

median = middle value

range = maximum – minimum

If ax 2 + bx + c = 0, then

mode = most common value
Prism: Volume  = Area of base    Height

x = −b ± √ b2 − 4ac
2a

 % =       ÷ 100 =
100 Standard form

move dec. pt 3 places right

move dec. pt 3 places left

1.23    10   = 1230.0
3

1.23    10   = 0.001 23
  3

ExpandedFactorised
(x + 2)(x + 3) = x 2 + 3x + 2x + 6

= x 2 + 5x + 6
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Cone, pyramid: Vol.  =       Area of base    Height1
3

××
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sum of angles = 180o

factors of 6: 1, 2, 3, 6
multiples of 6: 6, 12, 18, 24, ...
primes less than 100: 2, 3, 5, 7, 11,
13, 17, 19, 23, 29, 31, 37, 41, 43, 47,
53, 59, 61, 67, 71, 73, 79, 83, 89, 97
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π radians = π  = 180oc
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DOPS: (x+a)(x–a) = x   – a 2 2

Perfect Square: (x+a)   = x  + 2ax + a2 22
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INTERVAL NOTATION
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Pentagon

Hexagon

Octagon

Quadrilateral
 4 sides

Ellipse

RhombusKite

oangle sum = 360
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